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Unit F248: Strategic decision-making
This Support Material booklet is designed to accompany the OCR GCE in Applied Business specification for teaching from September 2009.
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A Guided Tour through the Scheme of Work
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	OCR GCE in Applied Business Unit F248: Strategic decision-making

	Suggested teaching time
	5 hours
	Topic
	Marketing planning

	Topic outline
	Suggested teaching and homework activities 
	Suggested resources
	Points to note
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Marketing and the impact of a change in strategic direction
	Project a picture of a children’s shape sorter.  What does this picture have to do with marketing? 
Explain that marketing is finding out the gap (hole) in the market and filling it with what the customer wants.
Recap previous knowledge of marketing (from Unit F240 Creating a marketing proposal) by question and answer.

Explain that a change in strategic direction of a business should impact on its marketing.  Analyse a current example.
Homework: prepare a three minute presentation about how the strategic changes in a well known organisation (of their choice) have impacted on its 4 Ps.

	Picture or children’s shape sorter.
Current example, including internet and television clips.
	The very opposite of fitting square pegs in to round holes, marketing seeks to give customers what they want, therefore increasing sales.
Candidates should be able to explain the purpose of marketing and the 4 Ps.
Lower ability candidates could be guided towards increasing the product range e.g. introduction of a new chocolate bar or breakfast cereal.
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Ansoff’s Matrix
	Select candidates to give presentations of their homework findings.  Teacher to reinforce adjustments to 4 Ps.
Introduce Ansoff’s Matrix.  Stress its main purpose is the assessment of risk in the light of proposed strategic change.  Explain the 4 quadrants.
Issue a list of strategic changes and ask candidates to work in pairs to classify.  Go over the answers.
Homework: Explain why (according to Ansoff) diversification (new product, new market) is deemed to be the riskiest type of strategic change.
	Computer and projector if ICT presentations.
Handout including grid quadrants.
List of examples of strategic change.
	Use volunteers if possible as these candidates are likely to be better prepared.  Collect all presentations in for marking.
Link with key vocabulary.

	Critique of Ansoff’s Matrix
	Purpose of identifying risk – decisions, business aims, link with 4 Ps etc.
Display the statement ‘Diversification is always the most risky option’.  Is this true? Working in groups get candidates to think of situations when this would not be true.
Construct a whole class spider diagram of weaknesses concerning Ansoff’s argument.
Candidates to make notes on what they consider to be the 5 biggest weaknesses to Ansoff’s argument.
Homework: explain two benefits and two drawbacks of using Ansoff’s Matrix to make strategic decisions.
	
	Ensure candidates understand the trigger word ‘explain’ and do not simply ‘state’ their answers set for homework.
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Marketing strategy
	On scrap paper ask candidates to draw Ansoff’s Matrix.
Explain that a marketing strategy consists of the successful integration of the 4 ps.  These must be integrated in a way which fits the quadrant of Ansoff’s Matrix being targeted.
Issue two scenarios (targeting different quadrants), candidates to identify which quadrant is being targeted and produce an integrated marketing strategy for the firm’s new strategic direction.  Half the class to work on scenario 1, half on scenario 2.
Candidates to feed back to class.
Homework: recommend and fully justify an appropriate marketing strategy from a given scenario.
	Two scenarios.
Taken from past paper.
	Use examples which would conflict to aid explanation, e.g. high quality product, low pricing strategy.
If candidates sit in pairs arrange it so that both are doing different scenarios so that their creative ideas are original.
Issue the scenario and stress the need to not only come up with 4ps that integrate well but that a full explanation of the reasons for the choices must be given.

	Evaluation of the usefulness of Ansoff’s Matrix 
	Display an appropriate higher order question, with trigger word evaluate e.g. evaluate the usefulness of Ansoff’s Matrix to…...

Issue the scenario, allow students time to read.
Go through an essay plan for this question.  Candidates to suggest content.  Teacher to stress examination technique and level of response marking.
Complete for homework.
	Taken from past paper.
Case study from past paper.
	Reinforce the need to explain in context, analyse the consequences of points made and finally reach a decision with fully justified reasoning.


OCR GCE in Applied Business Unit F248: Strategic decision-making 
Special order decisions
OCR recognises that the teaching of this qualification above will vary greatly from school to school and from teacher to teacher.  With that in mind this lesson plan is offered, as a possible approach but will be subject to modifications by the individual teacher.

Lesson length is assumed to be one hour.
Learning Objectives for the Lesson
	Objective 1
	Candidates to understand the concept of special orders

	Objective 2
	Candidates to be able to apply their previous knowledge of contribution to special order decisions

	Objective 3
	Candidates to be able to list both quantitative and qualitative reasons to accept/reject a special order

	Objective 4
	Candidates to be able to evaluate a special order proposal


Recap of Previous Experience and Prior Knowledge
Candidates would have studied contribution (its meaning and calculation) in the lessons immediately prior to this session.  Candidates need to have a firm understanding of the concept of contribution before embarking on this lesson.  Both contribution and special order decisions build upon break-even analysis studied at AS level in Unit F242 Understanding the business environment.

Content

	Time
	Content

	10 minutes
	Recap previous learning by displaying simple break-even data on the board ready for students’ arrival at the lesson, e.g. SP £10 per item, VC £4 per item, TC £12000 pa.  Issue graph paper and give candidates no more than 10 minutes to draw and fully label the graph.  At the end of the allotted time display a correctly labelled graph and confirm the break-even point, e.g. 2000 units pa.

	5 minutes
	By question and answer ask what contribution means.  Ask candidates to calculate it from the data, e.g. £10- £4 = £6.

	5 minutes
	Ask if an order with a selling price just above variable costs, e.g. £5 should be accepted.  Ask if an order with a selling price just below variable costs, e.g. £3 should be accepted.  Introduce the concept of special orders and explain that the answer to both of these questions may in certain circumstances be yes.

	10 minutes
	Price offered below average selling price but above variable cost, e.g. £5:  Use figures from data to show the contribution available to cover fixed costs.  Explain that depending upon the size of the order, production capacity, supplies and staffing issues etc permitting it is usual to accept such orders.

	10 minutes
	Price offered below average selling price and below variable cost, e.g. £3:  Explain using figures that quantitatively there would be no sense in accepting this order, however qualitative reasons may mean it is in the interest of the business to accept.  Consider market penetration, loss leaders, penetration pricing, reputation, market share, expansion, possibility of future orders, word of mouth advertising etc.


Consolidation

	Time
	Content

	15 minutes
	Issue a scenario (ideally taken from a past paper) where a special order decision is required.  Ask candidates to work in pairs and list as many reasons for and against accepting the order as they can in 5 minutes.  Emphasise the need to consider qualitative as well as quantitative factors.  Spend the remaining time collating candidate answers on the board so that students can each take down a comprehensive list of reasons.

	5 minutes
	Set homework:  14 mark evaluative question asking whether or not a business should accept a special order taken from a past paper.  Explain the marking criteria and stress the need to consider both quantitative and qualitative data. Emphasise the need to write all arguments for and against in context and to finish with a fully justified decision.


= Innovative Teaching Idea


This icon is used to highlight exceptionally innovative ideas.





= ICT Opportunity 


This icon is used to illustrate when an activity could be taught using ICT facilities.
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